
Date: 03/09/2017                                                                Name:_____________   
========Review========
Read summaries for chapter 10, 11.
P321:
10.34 (c)



10.35




10.39



10.41




10.43






a 2 + 2ab + b 2 = 

a 2 − 2ab + b 2 = 

a 3 + 3a 2 b + 3ab 2 + b 3 = 

a 3 − 3a 2 b + 3ab 2 − b 3 = 

a 2 − b 2 = 

a 3 + b 3 = 

a 3 − b 3 = 


P354:
11.26 (b)




11.27 (b)




11.27 (c)




11.35 (a)



(c)





11.38 (b)





11.39 (a)





11.41 






11.46





11.48






11.54





11.55






(a + b) 2 =

(a − b) 2 =

(a + b) 3 =


(a − b) 3 =


(a + b)(a − b) =


(a + b)(a2− ab + b 2 ) =



(a − b)(a2 + ab + b2) =



(x+y)4
=



(x-y)4
=


5
